	BID RE	ESULTS							
AB2022-36 MERCER LAKE BOAT RAMP IMPROVEMENTS FOR THE MERCER COUNTY PARK COMMISSION  BID OPENING DATE: AUGUST 2,2022									
NAME	MARLIN CONSTRUCTION SERVICES, INC.	WATERS& BUGBEE, INC.	PAX MUNDUS ENTERPRISE,LLC						
ADDRESS	442 WHITESVILLE ROAD	75 SOUTH GOLD DRIVE	7 TAMARON COURT						
CITY, STATE, ZIP	JACKSON NJ, 08527	HAMILTON, NJ 08691	MONMOUTH JUCTION, NJ 08852						
CONTACT	JOSEPH A. PINKAVA JR.	CHARLES P. WATERS	IMRAN CHAUDRY						
TELEPHONE	732-901-4441	732-901-4441 609-584-1100							
FAX	732-901-4449	609-584-2200	609-935-2706						
E-MAIL	BUDDY@MARLINCSI.COM	BIDS@WATERSANDBUGBEE.COM	PAXMUNDUS@OUTLOOK.COM						
nj savi designation	N/A	N/A	SMALL BUSINESS ENTERPRISE						
hold beyond 60 days	YES	YES	YES						
ADDENDUM NO.ONE	INCLUDED	INCLUDED	INCLUDED						
BUSINESS REGISTRATION CERTIFICATE	OK	ОК	ОК						
EXHIBIT B	REQUIRED IF AWARDED	INCLUDED	INCLUDED						
EVIDENCE REQUIRED AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED						
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
REFERENCES	YES, ENGINEER TO REVIEW	YES, ENGINEER TO REVIEW	YES, ENGINEER TO REVIEW						
INSURANCE AND INDEMINICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
PREVAILING WAGE CERT	INCLUDED	INCLUDED	INCLUDED						
BID GUARANTEE	BONDEX INSURANCE COMPANY 10% NTE 20K	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% NTE TOTAL BID	SELECTIVE INSURANCE COMPANY OF COMPANY 10% NTE 20K						
CONSENT OF SURETY	BRENDA TURIELLO AIF WITH POA	PATRICIA A. MOORE AIF WITH POA	LYNN M. WHEELOCK AIF WITH POA						
NON COLLUSION AFFIDAVIT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
FEDERAL DEBARMENT FORM	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
NJ PUBLIC WORKS CONTRACTOR REGISTRATION	608418 EXPIRES 10.29.22 ( COPY OF CERT REQUIRED)	60176 EXPIRES 4.3.24	691905 EXPIRES 1.2.24						
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
exceptions	NONE	NONE	NONE						

116,471.50 \$

172,191.05 \$

401,275.00

TOTAL BID

\$

	BID PRICE FORM													
AB2022- 36 MERCER LAKE BOAT RAMP IMPROVEMENTS														
			MARLIN CONSTRUCTION SERVICES INC.			WATER & BUGBEE INC.				PAX MUNDUS ENTERPRISE				
Item	Item Estimated													
No.	. Quantity		Description		Unit Price		Total Price		Unit Price		Total Price	Unit Price		Total Price
1	1	LS	Mobilization, per lump sum	\$	6,500.00	\$	6,500.00	\$	12,380.00	\$	12,380.00	#	\$	40,000.00
2	1	LS	Stabilized construction entrance, per lump sum	\$	1,500.00	\$	1,500.00	\$	2,500.00	\$	2,500.00	#	\$	39,000.00
3	925	LF	IMRAN CHAUDRY	\$	5.00	\$	4,625.00	\$	4.25	\$	3,931.25	\$ 25.00	\$	23,125.00
4	2	LF	Inlet protection, per each	\$	200.00	\$	400.00	\$	270.00	\$	540.00	#	\$	4,000.00
5	3850	SF	Removal and replacement of vegetation, per sf	\$	2.75	\$	10,587.50	\$	7.50	\$	28,875.00	\$ 10.00	\$	38,500.00
6	73	LF	12" HDPE pipe, per linear foot	\$	212.00	\$	15,476.00	\$	160.00	\$	11,680.00	\$ 350.00	\$	25,550.00
7	30	LF	Depressed curb, per linear foot	\$	133.00	\$	3,990.00	\$	260.00	\$	7,800.00	\$ 75.00	\$	2,250.00
8	1	EA	Doghouse B Inlet, per each	\$	7,500.00	\$	7,500.00	\$	10,020.00	\$	10,020.00	#	\$	1,000.00
9	1	EA	12" Nyloplast Drain, per each	\$	4,000.00	\$	4,000.00	\$	5,265.00	\$	5,265.00	#	\$	1,450.00
10	2	EA	Headwall w/ trashrack, per each	\$	11,000.00	\$	22,000.00	\$	12,640.00	\$	25,280.00	\$ 750.00	\$	1,500.00
11	1	LS	Boulders, per lump sum	\$	7,500.00	\$	7,500.00	\$	6,506.00	\$	6,506.00	#	\$	1,500.00
12	1117	SY	2" HMA Asphalt Path, per square yard	\$	29.00	\$	32,393.00	\$	51.40	\$	57,413.80	\$ 200.00	\$	223,400.00

116,471.50 \$

172,191.05 \$

401,275.00

\$

BASE BID

	BID RI	ESULTS							
	AB2022-37 ROSEDALE DOG PARK RENOVATION	NS FOR THE MERCER COUNTY PARK COMISSION							
BID OPENING DATE: AUGUST 2,2022									
NUMBER OF BIDDERS	3								
NAME	SUNSET CREATIONS INC.	DOWN TO EARTH LANDSCAPING INC.	V&K CONSTRUCTION						
ADDRESS	355 ROUTE 601	705 WRIGHT DEBOW RD.	37 BARTHA AVE						
CITY, STATE, ZIP	BELLE MEAD, NJ 08502	JACKSON, NJ 08527	EDISON NJ. 08817						
CONTACT	JOHN COLOMBERO	WILLIAM MERKLER	PANTELIS KOUNELIAS						
TELEPHONE	908-281-6600	732-833-7702	732-572-7188						
FAX	908-281-9672	732-833-7709							
E-MAIL	JCOLOMBERO@SUNSETCREATIONSINC.COM	ELONEY@DOWNTOEARTHLANDSCAPING.COM	VKCONNJ@GMAIL.COM						
nj savi designation	SMALL BUSINESS ENTERPRISE	N/A	N/A						
HOLD BEYOND 60 DAYS	YES	YES	YES						
BUSINESS REGISTRATION CERTIFICATE	OK	ОК	OK						
EXHIBIT B	INCLUDED	INCLUDED	REQUIRED IF AWARDED						
EVIDENCE REQUIRED AA201	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED						
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
EQUIPMENT CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
REFERENCES	INCLUDED	INLCLUDED	INCLUDED						
INSURANCE AND INDEMINICATION	SIGNED AND DATED	SIGNED AND DATED	REQUIRED IF AWARDED						
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
PREVAILING WAGE CERT	INCLUDED	INCLUDED	INCLUDED						
BID GUARANTEE	LEXON INSURANCE COMPANY 10% NTE 20K	NGM INSURANCE COMPANY NTE 20K	NGM INSURANCE COMPANY 10% NTE 20K						
CONSENT OF SURETY	DANA MONTAGNA AIF WITH POA	DAWN M. JONESAIF WITH POA	LISA NOSAI AIF WITH POA						
non collusion affidavit	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
FEDERAL DEBARMENT FORM	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
NJ PUBLIC WORKS CONTRACTOR REGISTRATION	657285 EXPIRES 5.29.24	624668 EXPIRES 7.26.24	19802 EXPIRES 6.8.23						
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
exceptions	NONE	NONE	NONE/MATH ERROR ON GRAND TOTAL ON PROPOSAL PAGE IN BID						
TOTAL BID	\$ 105,465.70	\$ 207,284.00							

## BID PRICE FORM AB2022-37 ROSEDALE DOG PARK RENOVATIONS

				SUNSET CREATI	ONS INC.	DOWN TO EARTH LANDS	V&K CONSTRUCTION				
Item Estimated		ed									
No.	No. Quantity		Description	Unit Price	Total Price	Unit Price	Total Price	Unit Price		Total Price	
1	1	LS	Mobilization, per lump sum	\$ 1,800.00	\$ 1,800.00	\$ 12,000.00	\$ 12,000.00	\$19,464.00	\$	19,464.00	
2	5	EA	Removal of mounds and pipes, per each	\$ 850.00	\$ 4,250.00	\$ 2,500.00	\$ 12,500.00	\$ 500.00	\$	2,500.00	
3	1126	SF	Removal of pathway, per square foot	\$ 3.00	\$ 3,378.00	\$ 8.00	\$ 9,008.00	\$ 4.00	\$	4,504.00	
4	2000	SY	Earthwork - rough grading, per square yard	\$ 2.00	\$ 4,000.00	\$ 19.25	\$ 38,500.00	\$ 29.00	\$	58,000.00	
5	1	LS	Stabilized construction entrance, per lump sum	\$ 1,500.00	\$ 1,500.00	\$ 4,000.00	\$ 4,000.00	\$ 6,000.00	\$	6,000.00	
6	540	LF	Tree protection fencing, per linear foot	\$ 4.00	\$ 2,160.00	\$ 8.00	\$ 4,320.00	\$ 9.00	\$	4,860.00	
7	475	LF	Silt fence, per linear foot	\$ 5.00	\$ 2,375.00	\$ 5.00	\$ 2,375.00	\$ 6.00	\$	2,850.00	
8	300	LF	Post and woven wire fence, per linear foot	\$ 26.00	\$ 7,800.00	\$ 85.00	\$ 25,500.00	\$ 62.00	\$	18,600.00	
9	1	EA	12' Wide double gate, per each	\$ 2,100.00	\$ 2,100.00	\$ 6,000.00	\$ 6,000.00	\$ 4,200.00	\$	4,200.00	
10	1	EA	4' Wide single gate, per each	\$ 975.00	\$ 975.00	\$ 2,000.00	\$ 2,000.00	\$ 1,200.00	\$	1,200.00	
11	444	SY	4" Dense graded aggregate, per square yard	\$ 36.50	\$ 16,206.00	\$ 20.00	\$ 8,880.00	\$ 22.00	\$	9,768.00	
12	40	SF	4" Concrete pad, per square foot	\$ 50.00	\$ 2,000.00	\$ 60.00	\$ 2,400.00	\$ 15.00	\$	600.00	
13	2765	SF	2" Clean, round stone (pea gravel), per square foot	\$ 3.15	\$ 8,709.75	\$ 3.50	\$ 9,677.50	\$ 7.00	\$	19,355.00	
14	132	SY	2" HMA Asphalt Path, per square yard	\$ 50.00	\$ 6,600.00	\$ 72.50	\$ 9,570.00	\$ 72.00	\$	9,504.00	
15	1430	LF	14-Gauge metal edging, per linear foot	\$ 12.50	\$ 17,875.00	\$ 9.00	\$ 12,870.00	\$ 8.00	\$	11,440.00	
16	200	SF	Modular block wall, per square foot	\$ 60.00	\$ 12,000.00	\$ 61.50	\$ 12,300.00	\$ 67.00	\$	13,400.00	
17	14	EA	Shrubs (3-4'), per each	\$ 100.00	\$ 1,400.00	\$ 225.00	\$ 3,150.00	\$ 135.00	\$	1,890.00	
18	2223	SY	Furnish and install topsil, per cubic yard	\$ 2.15	\$ 4,779.45	\$ 12.00	\$ 26,676.00	\$ 34.00	\$	75,582.00	
19	2223	SY	Furnish and install lawn seeding, per square yard	\$ 2.50	\$ 5,557.50	\$ 2.50	\$ 5,557.50	\$ 11.00	\$	24,453.00	
	BASE BID			\$	105,465.70	\$	207,284.00	\$		288,170.00	